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QUESTION 1

A customer has several workloads using LPARs. The customer desires that the maximum number of active cores be
made available for each workload, a shared SAN connection, and dedicated LAN throughput for each workload. 

Which of the following satisfies the workload requirements? 

A. Dedicated donating cores, NPIV, SR-IOV network 

B. Shared Processor Pool, vSCSI, VIOS SEA 

C. Shared Processor Pool, Dedicated HBAs, dedicated LAN adapters 

D. Shared Processor Pool, NPIV, dedicated LAN adapters 

Correct Answer: D 

 

QUESTION 2

A customer wants to provide redundant links to their network switches to increase bandwidth and availability. 

This technique is referred to as: 

A. VLAN tagging. 

B. Shared Ethernet Adapter. 

C. Network Interface Backup. 

D. Link aggregation. 

Correct Answer: D 

 

QUESTION 3

Which of the following is an advantage of Power System Servers over Oracle Exadata solutions? 

A. Support for Flash Drives 

B. Ability to add cores and memory 

C. Can run Oracle 12C natively 

D. Offers a greater quantity of cores for enhanced scaling 

Correct Answer: B 

Reference: https://www.slideshare.net/miguelnoronha/why-oracle-on-ibm-power7-is-better-than-oracleexadata-the-
advantages-of-ibm-power7-systems (slide 10) 
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QUESTION 4

Which of the following statements is true regarding Dynamic Logical Partitioning (DLPAR)? 

A. In a disaster, it will immediately move active LPARs from a local system to a remote system, over the network with
only a pause in service. 

B. In a disaster, it will immediately move active LPARs from a local system to another local system, using a common
SAN, with only a pause in service. 

C. It enables the relocation of resources such as CPU and memory between LPARs as required, without an interruption
in service. 

D. It will automatically allocate an unlicensed processor to an LPAR to replace one that has reached the threshold for
errors. 

Correct Answer: D 

Reference: http://ibmsystemsmag.com/aix/administrator/lpar/dynamic-lpar---the-way-to-the-future/?page=2 

 

QUESTION 5

Which of the following is a benefit of the POWER9 processor with Power Enterprise Servers when compared to x86? 

A. DDR4 Memory 

B. More cores per socket 

C. More threads per core 

D. NVIDIA Tesla V100 

Correct Answer: B 

Reference: https://www.ibm.com/it-infrastructure/power/power9 
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